
www.mouldpro.com   

   

171

Part No. A B C G1 G2 H
MP.SDN.1010 10 60,5 26,5 M5 M5 10
MP.SDN.1025 10 59,5 41,5 M5 M5 25
MP.SDN.1420 14 102,5 42 G1/8 G1/8 20
MP.SDN.1435 14 132,5 60 G1/8 G1/8 35
MP.SDN.2025 20 114,5 55 G1/8 G1/8 25
MP.SDN.2050 20 169 82,5 G1/8 G1/8 50

Part No. A B C G1 G2 H
MP.SDNG.1010 M10X1 60,5 26,5 M5 M5 10
MP.SDNG.1025 M10X1 59,5 41,5 M5 M5 25
MP.SDNG.1420 M14X1,5 102,5 42 G1/8 G1/8 20
MP.SDNG.1435 M14X1,5 132,5 60 G1/8 G1/8 35
MP.SDNG.2025 M20X1,5 114,5 55 G1/8 G1/8 25
MP.SDNG.2050 M20X1,5 169 82,5 G1/8 G1/8 50

Smooth Body Non-Rotational Telescopic Level Compensator

Threaded Body Non-Rotational Telescopic Level Compensator

VACUUM CUP ADAPTORS

Part No. G1 G2
MP.07.01.001 1/8 1/8
MP.07.01.002 1/4 1/4

Elbow - Adjustable


